

(Act 4)

[1] $D_{f \circ g} = \mathbb{R}$

$D_{g \circ f} = \mathbb{R}$

$D_{f \circ f} = \mathbb{R}$

$D_{g \circ g} = \mathbb{R}$

$D_{f \circ h} = \mathbb{R} \setminus \{2\}$

$D_{h \circ f} = \mathbb{R} \setminus \{\frac{1}{3}\}$

$D_{h \circ h} = \mathbb{R} \setminus \{-4; 2\} !$

[2] (a) $f \circ g(x) = f(g(x)) = f(\sqrt{x}) = (\sqrt{x})^2 - 16 = x - 16$

$$x \xrightarrow{g} \sqrt{x} \xrightarrow{f} (\sqrt{x})^2 - 16$$

$$\xrightarrow{f \circ g} x - 16$$

$D_{f \circ g} = \mathbb{R}^+ \cap \mathbb{R} = \mathbb{R}^+$

(b) $g \circ f(x) = g(f(x)) = \sqrt{x^2 - 16}$

$$x \xrightarrow{f} x^2 - 16 \xrightarrow{g} \sqrt{x^2 - 16}$$

$$D_{g \circ f} = \mathbb{R} \setminus (-4; 4)$$

[3] (a) $x \xrightarrow{k} \sqrt{x^2 + 2x - 15} \xrightarrow{h} \sqrt{x^2 + 2x - 15}^2 + 2\sqrt{x^2 + 2x - 15}$

$D_{h \circ k} = \mathbb{R} \setminus (-5; 3)$

(b) $x \xrightarrow{h} \sqrt{x-15} \xrightarrow{k} (\sqrt{x-15})^2 + 2\sqrt{x-15}$

$D_{k \circ h} = [15; +\infty[\cup [15; +\infty[= [15; +\infty[$